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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

1.  Answer any ten questions:

their own words as far as practicable.

2x10=20

-G vifS rsa Tea wie ¢

a)

b)

d)

State three major features of Indian economy

at independence.

FIETOR R CiFer wefifen foafb @ %y @4 |
Planning Commission of India was established
in which year?

(I T2 Sed 2t Fhmw dfefow =7 ?
Formation of NITI AYOG was announced in
which year?

NITIAYOG (3 93 afsfde 232

The first five-year plan of India was based on
which model ?

A2 2/ AT (I TG T fohe w0
Sk
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g)

h)

1)

k)

D
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Mention two objectives of eighth five-year plan.
BN 2/ oAfFae1g 7fo Sy Trard ! |
Is the birth-rate high in India?—what is its

reason?

SIS TR [@fF— 97 Sl {52

What is the full form of NABARD?
NABARD-3 2[00 711+ <5 2

Write the examples of public sector in Indian

economy.

CRISRI LIS TR CFCaq Suizge wie |
Write the examples of private sector in Indian

economy.

CROR HLINCS (PIRFIRN CHCaD SWiZge v |
What is the capital goods skill council?
Capital Goods Skill Council &2

What is the full form of I11P?

TIP-71 =l =711 T 2

What is the full form of MSMEs?

MSME-Z =t 71 & 2

In which state has Total Fertility Rate below the
Replacement Rate?

(IS 6 TITOR TR eifogio 2 s SR
FAR?

What is the present rate of saving and investment

[2]



in India?

00 TG Fe [ 2 Fo 2
0)  What is the main objective of export promotion
capital goods scheme?
Fife Ted e ¥y % (export promotion
capital goods scheme) @3 &1 Cly 6 2
2.  Answer any four questions: 5%x4=20

@I orafo 2 Ted wie ¢

a)

b)

d)
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Explain how public sector contributes to the

Indian economic development.

olgeR Sdaifed Safere SR CHad Samie @1¢ |

What are the problems of Jute mill industries

in India recently?
R0 A6 R IO APPISfT 7719 |

Why is the public sector in India so important?

©RCS M g SF] @ 2

Explain how import substitution can protect

Indian domestic industry.

(@ I SRS (e s Simife sifiasel Aife
T AR 2

How does saving affect economic development

in India?

LN

(A I ALY OO HAN OO AC[F (F(EICR ?

[3] [Turn over]

f)

3. Answer any two questions:

Mention salient features of INDIA VISION-
2020.

INDIA VISION-2020-3 (afigyefe @2 |
10x2=20

@I 7S 2ra Ted M6 2

a)

b)

d)
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Explain about the need for economic

development in India.

OIS SO ST RGO 9/ SETH!
|

Give the features of India’s economic planning.
CISR ST AR @Rl Rewelta @12 |

What are the main features of India’s first and

second five-year plan?

TR0 A ¢ ey AR oAfFaeia A erafe
@2 |

Though the public sector is very important for
Indian industries, it will undergo heavy losses
and becomes an obstacle to the economy’s
resources. Discuss the facts and effectiveness

of the public sector.

e ST it TaFIfE CFead Wy TE0E, © e
OO HYCH 3R LA TR AT A7 |
& S A GFCad Mool € SRS i S |

[4]



